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#2.2.1 /IBEBITEOBRESa AN

| SRR | ERETR EEUX | SHEE | BAkE
LW METE (FA) (Rt 5 ®) ®)
T ARERER 0 g o o
25T = 24,110 417 T% 26%
BT 51,788 895 15% 56%
Y180 28 16,325 282 4% 18%
I Et 92,224 1,595 26% 100%
BA SRRERER 10,010 173 3% 11%
2% 2,438 42 1% 3%
BT 80,079 1,385 22% 86%
5t 92,527 1,600 26% 100%
et R MER 37.497 648 11% 22%
B35 18,339 317 5% 11%
BT 113,320 1,959 32% 67%
o Et 169,156 2,925 48% 100%
OB RIBEET) 353,907 5.119 oo —
HEER(30%) 106,172 1,836 — —
A AR ES T 460,079 7,955 — —_
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# 2.2.2 /INFAEEFETEO LCC £5H#F

Ceomaa - B el bl Bl PY T
(a) (b) (c) |(d=aXbXc)| (%) (%)
@izt et R HEE 43690  (A/nf) 889.79 = 38,875 3% 1%
axstaz b HEEN) 1,770 (F/nf) 889.79 — 1,575 o% o%
g 45460  (F/nf) 889.79 = 40,450 3% 1%
BEIFH 230500  (F/nf) 889.79 — 205,097 16% 57%
BRERHEIFE 55,700  (F3/nf) 889.79 == 49 561 4% 14%
WEEaRL
RMERIER 60,600  (F3/nf) 889.79 — 53,921 4% 15%
gt 346,800  (F/m) 889.79 - 308,579 24% 86%
TIHEIPIR | THEEE 12300  (F/nf) 889.79 — 10944 1% 3%
st - — — 359,973 28% 100%
EHIR G zﬁlﬁf HAR 2,033 (M/nmf- ) 889.79 65 117,581 9% 91%
JeEOkARE  HoERE 203 (FM/nf- ) 889.79 65 11,741 1% 9%
gt 2,236 (F/nf- ) 889.79 65 129,322 10% 100%
HEHF FRAER TRPEFL 0 (M/nf- ) 889.79 65 0 o% o%
st = = — 129,322 10% 100%
Rt SiE RTE 2,637 (M/nf- ) 889.79 65 152,514 12% 20%
Ein BRE 0 (M/nf- ) 88979 | 65 0 0% 0%
g
ARE 2,830 (M/nmf- ) 889.79 65 163,677 12% 21%
gt 5467 (F/nf- &) 889.79 65 316,191 24% a1%
E'EE%:'” Z;g%@f; g - —_ — 460,079 35% 59%
st - = = 776,270 59% 100%
EScamy BiFEIEE 21,400  (F3/nf) 889.79 — 19,042 2% 52%
gg;ﬁ%ﬁ FEELDIAR |RELADE 20,000  (F3/nf) 889.79 = 17,796 1% 48%
5t = — — 36,837 3% 100%
& stGEBWEZFAL) — — — 1,302,403 100% —
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# 2.2.3 THEFEETEOERESEAMEHFK
- 1~65FEDOAEET | FEERR F5X | &FksE | oS
T | z
R MR (£) (R i 25) %)
s £ NREMER 0 0 0% 0%
s 49,930 312 5% 22%
i 148,393 927 16% 64%
7126218 32,773 205 4% 14%
Bt 231,096 1,444 25% 100%
B5 AR REE 31,971 200 3% 13%
B 4,596 29 0% 2%
BIE 212,261 1,326 23% 85%
Bt 248,828 1,555 26% 100%
1k AR REE 89,966 562 9% 20%
EER 52,614 329 6% 11%
[ 317,198 1,982 34% 69%
gt 459,779 2,873 49% 100%
HH (IR RIBES ) 939,703 5,871 T
TLAE(30%) 281,911 1,761 —
A TGERWES T 1,221,614 7633 -
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% 2.2.4 PHAEETEO LCC HFitE

(a) (h) (c) (d=aX bXc) (%) (%)
Bigaxt RETR HEE 25,750  (F/nf) 2,462 37 — 63,406 2% 7%
85Tt REEG1) 780  (A/nf) 2,462.37 — 1,921 O% o%
gt 26530  (F/nf) 2,462 37 — 65,327 2% 7%
BREIFH 216100  (FA/nf) 2,46237 = 532,118 15% 58%
BRERRIFE 49500  (F3/nf) 2,462.37 — 121,887 3% 13%
e mpy
HWRRISE 77,000  (FM/nf) 2,462.37 = 189,602 5% 20%
gt 342,600  (FM/nf) 246237 . 843,608 23% 91%
ISP | TFEER 6530 (/) 2,462.37 = 16,079 1% 2%
st = — — 925,014 26% 100%
EAIRE zﬁf:fhz** 1,850 (F/nf- ) 246237 | 65 296,100 8% 89%
FEAKQRE |HaERE 227 (M/nf- ) 2,462.37 65 36,332 1% 1%
5t 2,077 (M/nf- &) 246237 | 65 332,432 9% 100%
HEHF TR RPET 0 (M/nf- ) 246237 | 65 0 o% o%
5t — — — 332,432 9% 100%
Rt SiE RTE 2218 (F/nf- &) 246237 | 65 355,000 10% 16%
i BIRE 1,721 (A/nf- &) 246237 | 65 275,453 8% 12%
HIFEEIRL
ARE 2441 (A/nf- ) 246237 | 65 390,692 1% 17%
gt 6,380 (F/nf- &) 2,462.37 65 1,021,145 29% 45%
fﬁig:ﬂ ggggﬁ’; B — — — 1,221,614 34% 55%
st — — — 2,242,759 63% 100%
LEcomy BFEISE 18500  (F/nf) 2,462.37 — 45554 1% 55%
gg;ﬁ%ﬁ FEENADIAR |RELASE 15300  (F3/nf) 246237 — 37674 1% 45%
st - - = 83,228 2% 100%
& stCHBWESFEL) = — — 3583434 100%| —
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* 2.2.5 KRMBEFBITEOEREaAMER

- 1 ~65FEDOAEET | FER 250X | &S | IpoHkeE
B AP (Fr) (1 2E) (%) (%)
3P DR ER 0 0 0% 0%
fEsER 235,576 219 4% 21%
(3 718,773 724 14% 68%
yigp 212 129,071 120 2% 11%
g 5 1,143,421 1,063 20% 100%
TR NRERER 155,425 145 2% 10%
fEsER 48,472 45 1% 3%
BIFR 1,374,617 1,278 24% 87%
i 5t 1,578,513 1,468 27% 100%
Ei 45 NRERER 496,333 462 8% 16%
iEiER 345,123 321 6% 11%
L35 2,271,955 2,113 39% 73%
i & 3,113,412 2,895 53% 100%
B EBRIBES ) 5,835,346 5,427 100%] —
HIBE(30%) 1,750,604 1.628] — —
A& TGERBES TG 7,585,949 7,055 — —
¥ T1~65FEDAFTI#OE X 1000 -+ EFEEFE 60 IVEE GEFERTE: 16,543.05n0%)
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% 2.2.6 KIFAEHITED LCC HEitE

LcCh BB 5348 BRAMIR . @\(ﬁiﬁﬁ Eggﬁl ?E'I%gﬁ BRIE | HoiE
(a) (b) (c) |{d=aXbXc) (%) (%)
Bzt TR HEER 9,760  (M/nf) 16,543.05 = 161,460 1% 3%
axstaz b sREE0) 360  (F/nf) 16,543.05 — 5,955 0% O%
gt 10120  (F/nf) 16,543.05 = 167,416 1% 3%
BEITSE 198,700  (FM/nf) 16,543.05 — 3,287,104 16% 58%
BRERBIFE 57,700  (F3/nf) 16,543.05 = 954 534 4% 17%
R
WMRRIER 72,300  (F/nf) 16,543.05 — 1,196,063 6% 21%
gt 328,700  (FA/nf) 16,543.05 — 5,437,701 26% 96%
IFHIPIR} | IFHEE 2270  (A/m?) 16,543.05 — 37553 0% 1%
&t = — = 5,642,669 27% 100%
BRI zi,gf HLALS 2038 (M/mf- %) | 1654305 | 65 2,191,458 10% 85%
JEKQRE  [HaERE 349 (M/nf- %) | 1654305 | 65 375,279 2% 15%
gt 2,387 (F/nf-4) | 1654305 | 65 2,566,737 12% 100%
HEHF ISFRZANER- TRPEFL 0 (MA/mf-%)| 1654305 | 65 0 0% 0%
& — — — 2,566,737 12% 100%
&R+ SiE RTHE 1,754 (M/nf-F) | 1654305 | 65 1,886,073 9% 15%
Ein BRE 1101 (MA/nf-F) | 1654305 | 65 1,183,903 5% 10%
#iFEEaRt
ARE 1528 (M/nf-%) | 1654305 | 65 1,643,056 8% 13%
gt 4383 (M/mf-4E) | 1654305 | 65 4,713,032 22% 38%
Egig:ﬂ gg%ﬁ?ﬁ fg — - - 7,585,949 36% 62%
&t — — — 12,298,981 58% 100%
e mp g BRiFEISH 18500  (F/nf) 16,543.05 = 306,046 2% 55%
gi‘ﬁﬂﬁ FEFENDIAAL} |EELDE 15300  (F/nf) 16,543.05 — 253,109 1% 454%
st — — — 559,155 3% 100%
& stGEBWEST L) = — — 21,067 542 100% —
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# 2.2.7T (&) DIERESEaANMERFR
- 1 ~65FEDAET | FETE 25X | £FE | FpokeE
| =
£ IR (T (Rt 2E) %) %)
3pEE NRRERER 0 0 0% 0%
Z5E 97,112 387 9% 27%
B 218,725 872 20% 60%
F18p RIS 47,787 191 5% 13%
o Et 363,624 1,450 34% 100%
BL HRBHRER 25,218 101 2% 12%
iZ5EER 5,771 23 1% 3%
AT 179,987 718 17% 85%
5t 210,976 841 20% 100%
i SRR RER 96,813 386 9% 20%
iZ5EER 96,252 384 9% 19%
B 303,435 1,210 28% 61%
5t 496,500 1,979 46% 100%
(IR RIBESEe) 1,071,099 4,270 100% —
HmER(30%) 321,330 1,281 — —_
A& FOERBES TG 1,392,429 5,551 — —
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#2.2.8 FRMIE) D LCC EiHFE

(a) (h) (c) (d=aX bX c) (%) (%)
ey et E HEE 19540  (F/nf) 3,858.98 — 75,404 2% 7%
§85taR AEREG1) 780 (M/nf) 3,858.98 = 3010 o% o%
g 20320  (F/nf) 3,858.98 — 78,414 2% 7%
BEISH 170900  (FM/n) 3,856.98 — 659,500 20% 59%
BREMRIFE 33900  (F/nf) 3,858.98 — 130,819 4% 12%
MR
BRI SE 54000  (F/nf) 3,858.98 = 208,385 7% 19%
gt 258,800  (M/n) 3,858.98 - 998,704 31% 90%
IFEIRIR (ITFHIEE 73%0  (FA/nf) 385898 — 28518 1% 3%
st = — — 1,105,636 34% 100%
AR zﬁ’;f””* 590 (M/nf- ) 385898 | 65 147,992 5% 55%
FEokaZE  |AaERtE 482 (M/nf- H) 385898 | 65 120,902 4% 45%
gt 1072 (A/nf- F) 385898 | 65 268,894 9% 100%
HEHF TR RPETL 0 (M/nf- ) 385898 | 65 0 o% o%
st - — — 268,894 9% 100%
R2at Si& RTE 1,303 (F/nf- ) 385898 | 65 326,336 10% 19%
Eir BIRE 0 (M/nf- ) 385898 | 65 0 0% 0%
H#iFEIEaRL
ARE 0 (M/nf- ) 385898 | 65 0 o% o%
gt 1,303 (F/nf- ) 385898 | 65 326,336 10% 19%
.ff.zﬁ%:zr ggég’?; % — — — 1,392,429 43% 81%
st = — — 1,719,265 53% 100%
BRFaR BFEISH 17400  (F/nf) 3,858.98 — 67,146 2% 54%
gg;ﬁ%ﬁ FREEADIAR |RELSE 14900  (FM/nf) 3,858 .98 = 57,499 2% 46%
st = — — 124,645 4% 100%
& stCHBWEZFELY) - = = 3,218,440 100%| —
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43
% 200 R (KEH) OERSaAMEH 5
- ~oRDAT | ERERE ELUX | SHE | BARE

LI AR (FF) (Rt 56 (%) ®)
TS ARERER z ; o o
IZER 28,754 352 12% 22%
LR 72,336 886 30% 56%
Y156 215 28,650 351 12% 22%
5t 129,740 1,590 54% 100%
= ARERER 5.052 T T T2
iZ3EE 520 6 0% 1%
B 42,308 518 18% 87%
5t 43,880 599 21% 100%
ekt NREMER 13,067 160 5% 22%
iZ4EE 14,243 175 6% 24%
BifE 32,644 400 14% 54%
5t 59,954 735 25% 100%

B REEAT) 238,574 2923 oo —

HEER(30%) 71,572 877 — —_

A TGABRMES T 310,146 3,800 — —_
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7 2.2.10 TR UKEHE) O LCC HEH&R

JENRETE

2=

RetEE8

P BEAR %1 () () (FF) 2R | D
(a) (b) (c) |(d=aXbXc)| (%) (%)
e tmp g et E HEE 28670  (F/nf) 1,25552 — 35,996 4% 9%
By HEE() 1,000  (A/nf) 1,25552 — 1,369 0% 0%
‘)5 29,760  (F/nf) 1,25552 — 37,364 4% 9%
BEIFE 235200  (M/nf) 1,25552 — 295,298 33% 74%
EBRRRIFE 25400  (FM/nf) 1,25552 — 31,890 4% 8%
IR
BWRRIEE 18000  (M/nf) 1,25552 — 22599 3% 6%
gt 278,600  (F/m?) 1,25552 — 349,788 40% 88%
IFEIIER | TSR 9,780  (F/nf) 1,25552 — 12,279 1% 3%
&t - — — 399,431 45% 100%
EHIRE Fg?ﬁf’]”* 590 (F/nf- %) 125552 | 65 48,149 5% 55%
HEAKQRF |oERE 482 (A/nf- &) 125652 | 65 39,335 5% 45%
gt 1,072 (FM/nf- ) 125552 | 65 87,485 10% 100%
REHF OFRAGR- RPETL 0o (M/nf- ) 125652 | 65 0 O% o%
&t - — — 87,485 10% 100%
fR£a2+ SiE RTH 489 (M/nf- ) 125652 | 65 39,907 4% 1%
Ein BERE 0 (FM/nf- ) 125552 | 65 0 O% 0%
g by
ARE 0 (M/nf- ) 125652 | 65 0 o% o%
5t 489 (A/nf- &) 125652 | 65 39,907 4% 1%
B [ SRERSE 2 - — [ = | wome|  ww e
st - — — 350,053 39% 100%
FRiFa2 b RFEIFH 25500  (F/nf) 1,25552 = 32,016 3% 57%
gg;\;ﬁﬂﬁ EELADIR |RELDE 19,300 (M/nf) 1,25552 — 24,232 3% 43%
&t — — — 56,247 6% 100%
& stGEBWEZFGW) = — - 893,216 100% —
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# 2.2.11 PEMAE A PERE) OBRESFaAMER £

- 1~65FEDEET | FEER F5X | &FsE | Bpakks
L aiadins (Fr) (K1 2E) %) (%)
P NRERER 0 0 0% 0%
fEsE R 85,124 571 15% 37%
IR 129,934 871 29% 56%
712 218 17,381 116 3% ™
gt 232,439 1,558 40% 100%
BA NRERER 5,485 37 1% 9%
fEER 1,086 T 0% 2%
BIFR 52,659 353 9% 89%
v Bt 59,230 397 10% 100%
b4 NRERER 55,492 372 10% 19%
fEER 15,821 106 3% 6%
BIR 215,349 1,443 37% 5%
o Et 286,662 1,921 50% 100%
(IS RIEFS YY) 578,331 3,876 0% —
A ER(30%) 173,499 63| — -
A FTGERBES TG 751,830 5,039 — —
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#2212 HEETE (4 PERRE) O LCC £EF#

(a) (h) (c) (d=aX bX c) (%) (%)
ey st E HEE 18,840  (M/nf) 2,29543 — 43,246 3% 7%
By REE0) 780  (M/nf) 2,29543 — 1,790 O% 0%
gt 19620 (FM/nf) 2,29543 — 45,036 3% 7%
BETSE 177,000  (M/nf) 2,29543 — 406,291 24% 67%
BREMRIFTE 22500  (F/nf) 2,29543 — 51,647 3% 9%
R
BWRRISE 40800  (F/nf) 2,295 43 = 93,654 % 15%
gt 240,300  (F/nf) 2,29543 — 551,592 33% 91%
ISEEIR | TFERER 6160  (F/nm) 2,295 43 - 14,140 1% 2%
st o = = 610,768 37% 100%
BRI E%‘thz“ 0 (F/mf-%) | 229543 | 65 0 o -
FEKIRE  oERE 0o (M/nf- ) 229543 | 65 0 o% —
gt 0 (FM/nf- ) 229543 | 65 0 o% -
REHF OFRAER PR o (M/nf- ) 229543 | 65 0 o% —
5t = — — 0 o% —
acmpy SiE RTE 1,286 (F/nf- &) 229543 | 65 191,875 12% 20%
B BRE 0 (A/nt &) 229543 | 65 0 0% 0%
#IFEEIRL
ARE o (M/nf- ) 229543 | 65 0 o% o%
gt 1,286 (F/nf- ) 229543 | 65 191,875 12% 20%
EE‘E%DRI‘ gg%ﬁ?g L — — - 751,830 46% 80%
st - — — 943,705 57% 100%
LEacSmpy BFEISHR 20500  (F3/nf) 2,295 43 — 47,056 3% 51%
BILD gmnsazt [Eenss 19900 (/) | 220543 | — 45,679 aw| a0
5t = — — 92,735 6% 100%
& stCHBWESZFEL) - — o 1,647,208 100%) —

¥1 I3 FEI|OLCCT —AX—2ITLD
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2.2.65 fREIANOE FHWNROMEMELER (P BET (4 PEFRE))
52
% 2213 BIBIEE 8 ERD) OIS A Mt &
- 1 ~65FEDEE MR 25X | RS | ZakbsE
T | £
) SERPIIR (FE) (R /e 5E) ®) ®)
K 34 SRR MER 0 0 0% 0%
B 109,970 624 15% 39%
B 144,395 823 20% 52%
] 24,176 137 4% 9%
Bt 279,041 1,585 39% 100%
TR AREREE 3317 19 1% 4
s 1,334 3 0% %
IS 75,383 428 10% 4%
Bt 80,034 454 1% 100%
ks NREMER 80,479 457 11% 22%
B 18,897 107 % 5%
IR 262,303 1,490 36% T3%
Bt 361,680 2,054 50% 100%
ST (MERRISES ) 720,755 4,093 100% —
HLAER(30%) 216,226 1,228 — —
A FTGEERMESTW 936,981 5,321 — -
¥ [1~65FEOAETIHOE X 1000 - EFmF--6EICIVEH (GEFERTA: 2,709.19m%)
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#2214 EEETE (B PERE) D LCC £iHE

JEAPREDTE

2tieH

Ret£E8

LoCh BB 428 BEMR e IR =" TN I T b
(a) (b (c) {d=aX bXc) (%) (%)
ey RETE HEE 17,450  (FM/nf) 2,709.19 — 47275 2% 7%
BipmPys AEEN) 780 (M) 270919 — 2113 0% 0%
gt 18,230  (FM/nf) 2,70919 — 49,389 2% 7%
BETSHE 178,000  (F/nf) 270919 — 482,236 24% 66%
BERERMEIFE 21,700  (A/m®) 2,70919 — 58,789 3% 8%
QR
D 45100  (A/md) 2,70919 — 122,184 6% 17%
gt 244800  (F/nf) 2,70919 - 663,210 33% 91%
IFEER} | ITFEHER 5730  (M/nf) 270919 — 15524 1% 2%
&t —_ — — 728,122 36% 100%
EHIRE iﬁf**‘.%'ﬁz*q 0 (F/nt- &) 2,70918 65 0 0% —
% B
FeEAKORE  |AGER S 0 (M/nt- &) 270919 65 0 0% —
gt 0 (A/nt- &) 2,709189 65 0 0% —
HeH INFRANER- TRPEFY 0 (F/nt- &) 270919 65 0 0% —
&t — — — 0 0% —
RLaRt oig 7 TH 1550 (M/nf- ) 270919 65 272,951 13% 23%
Ein BRE 0 (M/mt- &) 270919 65 0 0% 0%
HIFEEOR
BRE 0 (M/mt- F) 270919 65 0 0% 0%
gt 1550 (M/mt- &E) 270919 65 272,951 13% 23%
BFEHFIRL [(DRRREE 8 _ . .
%2 Gm wuE 936,981 46% 77%
&t —_ — — 1,209,932 59% 100%
i rsm BFEIFTE 19,800  (F/nf) 2,70919 — 53,642 3% 53%
g*;ﬁﬂﬁ BRENLADIRL |RELDE 17400 (FM/nf) 2709189 — 47,140 2% 47%
&t — — — 100,782 5% 100%
& stCHBHESFEW — — — 2,038,836 100% —

13 FEIROLCCT —AX—2 LD
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#*%3.2.8 T /NVEWEORIREEE BRSO 0% E

T VWA ERERE | B EVESMm) | SARESMm) | RS (m)
NS T 468 104 104 32
HRRR S T 707 170 170 109
KRB FTFE T8 1622 662 358 382
AR (BE) 1858 514 315 282
TR K FEE) 1444 317 235 109
W (4 BE) 792 169 152 158
L (8 F) 557 131 120 219

JBARY V71X, AMBE =D B R LSRR NS 2D BEL TR,
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#3.2.9 BT NVEMREOI IR E SN AR T D EM OB
T NVEMA SRS | AL BRSNS R SRR F R (nd)
() (m) (m) ZD1 ZD2

NS T 985 885 470 163
RS 1,908 1,546 2556 10
KRBT 4 7,406 6,924 9032 34
TR (B 2,801 3,205 1811 61
TR KB 1,404 1,724 1160 105
B (4 BE) 1,950 3,713 1980 133 665
= JE T (8 ) 2,459 4,807 2704 111 904
B AN RIFZO LI ANV EP, D 2135 v ik
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% 3.2.10 =7 NVEMEONBEELIMTE RO

ETVEMA SNVESRE | BIER | Bk | HTY SRR (T ) | &Y
(nd) (nt) (nf) | (od) | B | BB | AR | vo—
INBUB S T 985 81 38 9 5 2 4 0
H B S T 1,908 186 43 12 0 7 0
KEBLER T4 | 7,406 732 226 242 5 2 14 1
T (B 2,801 837 21 20 7 0 4 0
T UKRBEER) 1,404 160 13 0 5 0 3 0
W B (4 BE) 1,950 356 0 0 4 0 90 0
EE{EE (8 f) 2,459 341 5 0 11 0 149 0
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